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Part A Section |

1. In the following frequency distribution, what

is the upper limit of the median class ?

0-5 6-10 12-17 18-23 24-29
13 10 15 8 11



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LB5r3anEreSS

° Watch Video Solution

2. If the perimeter of a circle is equal to that of

a square, then the ratio of their areas is

o Watch Video Solution

3. Explain, how the product of two consecutive

positive is an even integer.

° Watch Video Solution



https://dl.doubtnut.com/l/_LB5r3anEreSS
https://dl.doubtnut.com/l/_pSUJIyRaXvyt
https://dl.doubtnut.com/l/_zKNg83pFIkN0
https://dl.doubtnut.com/l/_KKBp191RWurS

4. Make a factor tree for the composite

number 324.

o Watch Video Solution

5. Find the coordinates of points which trisect
the line segment joining

(1, — 2)and( — 3, 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_KKBp191RWurS
https://dl.doubtnut.com/l/_36stAEkVTMOP

6. Find the ratio in which x-axis divides the join

of (2,-3) and (5,6).

o Watch Video Solution

7. In a AABC,BD 1 CA and CFE | BA,

Prove that A ABD-~-AACE.

o Watch Video Solution



https://dl.doubtnut.com/l/_tw44zvFbJm6i
https://dl.doubtnut.com/l/_TaODpRIWz5x2

8. Draw a line segment of length 8 cm and

divides it in the ratio 2: 3

o Watch Video Solution

9. If cosec A = T2 then find the value of

2sinA — 3cos A
4sin A — 9cos A

° Watch Video Solution



https://dl.doubtnut.com/l/_1J5xgFgCgWqw
https://dl.doubtnut.com/l/_p1MMtlRygEDA

10. If the angle of elevation of the top of a
tower from a point distant 100 m from its base

is 45°, then find the height of the tower.

o Watch Video Solution

11. If the 6" terms and 11*" term of AP. are 12

and 22 respectively, then find its 2" term ?

° Watch Video Solution



https://dl.doubtnut.com/l/_0iI9m15QZkn0
https://dl.doubtnut.com/l/_5jzpCsHJ6AtO

12. Solve for xand y :
3r — 2y =14

and 6x — 4y = 8

o Watch Video Solution

13. How many tangents can be drawn from a

point lying inside a circle?

o Watch Video Solution



https://dl.doubtnut.com/l/_yKH7cLLTd8kB
https://dl.doubtnut.com/l/_OEf0FU1ikBlN

14. Find the degree of the polynomial

(z +1)(z* —z +2* - 1).

o Watch Video Solution

15. If r=3 is a root of quadratic equation

kr? — kr — 3 = 0, then find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_C3MGaHiTdUaY
https://dl.doubtnut.com/l/_GUqUF0Xrbd1P

16. In a rhombus ABCD, prove that

AC? + BD? = 4AB?

° Watch Video Solution

17. Two different dice are thrown together.
Find that the probability of getting the sum of

the two numbers less than 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_8e4SFM91MgVR
https://dl.doubtnut.com/l/_hOcS4ow8ByzW

18. A bag contains 5 red, 8 green and 7 white
balls. One ball is drawn at random from the
bag. Find the probability of getting a red or

white ball.

° Watch Video Solution

19. If £ =1 is a root of quadratic equation

222 — az + 1, then find the value of 'a'.

o Watch Video Solution



https://dl.doubtnut.com/l/_F5AxQYRlz9uF
https://dl.doubtnut.com/l/_vpFSIsxwh9zE
https://dl.doubtnut.com/l/_3geVHCejXivu

20. Convert the following statement into a
pair of linear equations in xand y (z > y).

"The sum of 2 numbers is 58. The greater
number exceeds twice the smaller number by

'I.ll

o Watch Video Solution

Part A Section li

1. A stop sign is an example of a Polygon. In

the image , you can see examples of diagonals


https://dl.doubtnut.com/l/_3geVHCejXivu
https://dl.doubtnut.com/l/_dFJiXKUMd6WH

in geometry n the stop sign, there a various

number of diagonals possible in a Polygon.

N

the number of diagonals (d) that can be drawn

in polygons with a given number of sides (n) is

being investigated.


https://dl.doubtnut.com/l/_dFJiXKUMd6WH

VA5
® O C

INumber of sides (1) | 3 4 5 6 7
Number of diagonals () § 0 | 2 5 | s p q

By considering the pattern, the value of 'p' is

A 11

B.13

C.14

D. 15

Answer:


https://dl.doubtnut.com/l/_dFJiXKUMd6WH

° Watch Video Solution

ber of sides (n) " _ 4 5 6 7 8
2 barnfdiagonats(d)?i o | 2 5 ] p q

By considering the pattern, the value of 'q' is

A.16

B.18

C.19

D. 20

Answer:



https://dl.doubtnut.com/l/_dFJiXKUMd6WH
https://dl.doubtnut.com/l/_DzfJCZyU9Iod

| ¥ Watch Video Solution |

iNumber of sides () 14| 3 4 5 6 7 8
3 Numberof diagonals () | ©0 | 2 5 9 ° a

For a polygon, d and n are related as

d = An® + Bn. The relations for a triangle

and a quadrilateral are
A3A+B=0,84+2B=1
B.9A+3B=0,54+B =1
C.3A+B=0,12A+4+2B =3

D.3A+B=0,84+B=3


https://dl.doubtnut.com/l/_DzfJCZyU9Iod
https://dl.doubtnut.com/l/_cVUO9tZLpwze

Answer:

o Watch Video Solution

iNumber of sides () i4] 3 4 5 6 7 8
4 Number ofdiagonals () | 0 | 2 5 9 P q
. ’

For a polygon, d and n are related as

d = An® + Bn, the values of A and B are

1 3
AA=—,B==
2’ 2

1 3

B.A—E,B——E
1 3
A=—,B=—
¢ 2’ 2


https://dl.doubtnut.com/l/_cVUO9tZLpwze
https://dl.doubtnut.com/l/_tf4LuOBKvbT1

Answer:

o Watch Video Solution

5. 11

A.120

B. 136

C. 150

D. 170


https://dl.doubtnut.com/l/_tf4LuOBKvbT1
https://dl.doubtnut.com/l/_0QciTWm7tj8o

Answer:

° Watch Video Solution

6.

In right angled triangle APQ, the measure of


https://dl.doubtnut.com/l/_0QciTWm7tj8o
https://dl.doubtnut.com/l/_sigMhwgNdNCK

JAPC is :

A.15°

B.30°

C.45°

D. 60°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_sigMhwgNdNCK

7.
In right angled triangle APQ, BC' | | AQ, the
measure if ZBPC'is

A.15°

B.30°


https://dl.doubtnut.com/l/_GMmD2MW2rvdV

C.45°

D.60°

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GMmD2MW2rvdV

8.
In the right angled triangle APQ, the length AP
is :

A.h

B. 2h

C.v/2h


https://dl.doubtnut.com/l/_toYqGDx3foQe

D.,/3h

Answer:

o Watch Video Solution

Part B Section lii

1. Show that any number of the form 4%(n),n

ne N' can never end with the digit O.

° Watch Video Solution



https://dl.doubtnut.com/l/_toYqGDx3foQe
https://dl.doubtnut.com/l/_LqKvIjdjQ5hj
https://dl.doubtnut.com/l/_rKxG9ONZVS51

2. Draw a factor tree for the number 546.

o Watch Video Solution

3. The angles of a triangle are in AP. the least

being half greatest. Find the angles.

o Watch Video Solution

4. What should be added to the polynomial

r? — 5z +4 , so that 3 is the zero of the


https://dl.doubtnut.com/l/_rKxG9ONZVS51
https://dl.doubtnut.com/l/_UQhFiCW9Kk4G
https://dl.doubtnut.com/l/_2xwkmSn79UN8

resulting polynomial? (a) 1 (b) 2 (c) 4(d) 5

o Watch Video Solution

5. Evaluate

3 cos? 60° sec® 30° — 2sin® 30° tan®60°

° Watch Video Solution

6.1f (1, 2), (4,y), (x, 6) and (3, 5) are the vertices

of a parallelogram taken in order, find x and y.

o Watch Video Solution



https://dl.doubtnut.com/l/_2xwkmSn79UN8
https://dl.doubtnut.com/l/_I624AZyfacyv
https://dl.doubtnut.com/l/_s8gQXoIOOodM

7. A coin is tossed twice. Find the probability of

getting at-most 2 heads.

° Watch Video Solution

8. A heap of rice is in the form of a cone of
base radius 4 m and height 3 m. How much

canvas cloth is required to cover the heap

° Watch Video Solution



https://dl.doubtnut.com/l/_s8gQXoIOOodM
https://dl.doubtnut.com/l/_DU9R3VbnxgXp
https://dl.doubtnut.com/l/_TfLeNienFgGA

Part B Section Iv

1. Given that /5 is irrational , prove that

2,/5 — 3 is an irrational number.

o Watch Video Solution

2. Using elimination method, solve for x and y
the following pair of equations :

r —4y =49, Sx — 6y = 57

o Watch Video Solution



https://dl.doubtnut.com/l/_UujdHR9ijOGJ
https://dl.doubtnut.com/l/_OJBpXoLyAnyG

3. The Class X students of a secondary school
in  Krishinagar have been allotted a
rectangular plot of land for their gardening
activity. Sapling of Gulmohar are planted on
the boundary at a distance of Im from each

other. There is a triangular gr

o Watch Video Solution

4. The class X students school in krishnagar

have been allotted a rectangular plot of land


https://dl.doubtnut.com/l/_ht28E6oxum24
https://dl.doubtnut.com/l/_vGj86yS9rOND

for their gardening activity. Saplings of
Gulmohar are planted on the boundary at a
distance of 1 m from each other. There is
triangular grassy lawn in the plot as shown in
the figure. The students are to sow seeds of
flowering plants on the remaining area of the

plot.
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What will be the coordinates of R, if C is the

origin?

I o Watch Video Solution


https://dl.doubtnut.com/l/_vGj86yS9rOND

5. A circular pond is on diameter 17.5m. It is
surrounded by a 2m wide path. Find the cost
of constructing the path at the rate of Rs. 25

per square metre.

o Watch Video Solution

6. A chord of a circle of radius 12 cm subtends
an angle of 120° at the centre.

Find the area of the corresponding segment


https://dl.doubtnut.com/l/_vGj86yS9rOND
https://dl.doubtnut.com/l/_iES95uhqbEaO
https://dl.doubtnut.com/l/_QehIwDRGmbRg

of the circle (Use m = 3.14 and /3 = 1.73)

o Watch Video Solution

Part B Section V



https://dl.doubtnut.com/l/_QehIwDRGmbRg

1. Let s denotes the semi-perimeter of a
AABC in which BC=a, CA=b and AB=c. If a
circle touches the sides BC, CA, AB, at D, E, F,

respectively. Prove that BD=s-b.

o Watch Video Solution

2. All the black face cards are removed from a
pack of 52 playing cards.
The remaining cards are well shuffled and then

a card is drawn at random. Find the


https://dl.doubtnut.com/l/_fx23Zs9C9cuC
https://dl.doubtnut.com/l/_yr63jA77GkFV

probability of getting a (i) face card, (ii) red

card, (iii) black card, (iv) king.

° Watch Video Solution

3. All the black face cards are removed from a
pack of 52 playing cards.

The remaining cards are well shuffled and then
a card is drawn at random. Find the
probability of getting a (i) face card, (ii) red

card, (iii) black card, (iv) king.

° Watch Video Solution



https://dl.doubtnut.com/l/_yr63jA77GkFV
https://dl.doubtnut.com/l/_hb5oX6ecK8iD

4. All the black face cards are removed from a
pack of 52 playing cards.

The remaining cards are well shuffled and then
a card is drawn at random. Find the
probability of getting a (i) face card, (ii) red

card, (iii) black card, (iv) king.

o Watch Video Solution

5. All the black face cards are removed from a

pack of 52 playing cards.


https://dl.doubtnut.com/l/_hb5oX6ecK8iD
https://dl.doubtnut.com/l/_mlIp5fUddvPX
https://dl.doubtnut.com/l/_Qk5GIqgfVXu9

The remaining cards are well shuffled and then
a card is drawn at random. Find the
probability of getting a (i) face card, (ii) red

card, (iii) black card, (iv) king.

o Watch Video Solution

6. Three identical rods have been joined at a
junction to make it a Y shape structure. If two
free ends are maintained at 60°C' and the

third end is at 0° C, then what is the junction


https://dl.doubtnut.com/l/_Qk5GIqgfVXu9
https://dl.doubtnut.com/l/_eFrevV1OBEbT

temperature 6 ?

L&

° Watch Video Solution

7.1n the figure, two chords AB and CD intersect
each other at the point P.

Prove that : AAPC~-ADPB



https://dl.doubtnut.com/l/_eFrevV1OBEbT
https://dl.doubtnut.com/l/_fgh5yR9R7CL8

° Watch Video Solution

8. In the figure, two chords AB and CD
intersect each other at the point P.

Prove that : AP. PB = CP. DP

o Watch Video Solution



https://dl.doubtnut.com/l/_fgh5yR9R7CL8
https://dl.doubtnut.com/l/_xDsEWw5kcaYU
https://dl.doubtnut.com/l/_bvEu9CmLHZuw

9. A man sold a chair and a table together for
760 thereby making a profit of 25% on the
chair and 10% on the table. By selling them
together for 767.50 he would have made a
profit of 10% on the chair and 25%, on the

table. Find the cost price of each.

° Watch Video Solution

10. If Zeba were younger by 5 years than what

she really is, then the square of her age (in


https://dl.doubtnut.com/l/_bvEu9CmLHZuw
https://dl.doubtnut.com/l/_3OgAMNijy1PH

years) would have been 1 more than five times

her actual age. What is her age now?

° Watch Video Solution

11. A circle is inscribed in a quadrilateral ABCD
where /B = 90°If AD=24 cm AB=30 cm and

DS= 8cm find the radius r of the incircle

° Watch Video Solution



https://dl.doubtnut.com/l/_3OgAMNijy1PH
https://dl.doubtnut.com/l/_M4aqR8DbVbSG

12. If sinf + cosf = /3, then prove that

tanf + cot 0 = 1

° Watch Video Solution

Part A Section |

1. Find the median class of the following

distribution:
Class | 4045 | 4550 | 50-55 | 55-60 | 60-65 | 65-70 | 70-75 l
Frequency 2 3 8 6 6 3 2_|

o Watch Video Solution



https://dl.doubtnut.com/l/_pOc97tyAogFC
https://dl.doubtnut.com/l/_REGGQZms50Hh

2. An integer is chosen at random between 1
and 100. Find the probability that the chosen

number is divisible by 10.

o Watch Video Solution

3. Two different dice are rolled together. Find
the probability of getting a sum of 10 of the

numbers on the two dice.

o Watch Video Solution



https://dl.doubtnut.com/l/_REGGQZms50Hh
https://dl.doubtnut.com/l/_47xkt8xItUZl
https://dl.doubtnut.com/l/_FBZWrC6Ix9LE

4. Find the area of the largest triangle that

can be inscribed in a semi-circle of radius a cm.

° Watch Video Solution

5. Find the total surface area of a quadrant of

a wooden sphere of radius 3.5 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_3bs9g9EjDQrw
https://dl.doubtnut.com/l/_8eEyiQ8CXHlO

6. If sinf — cosf@ = 0 ,then the value of

sin® @ + cos* 0 is

° Watch Video Solution

7. The ratio of the height of a tower and the
length of its shadow on the ground is /3: 1.

What is the angle of elevation?

° Watch Video Solution



https://dl.doubtnut.com/l/_7UBIsZf91pju
https://dl.doubtnut.com/l/_qbEtVe2ymn4w

8. Determine the zeroes of the polynomial

p(x) = z° — 4z.

o Watch Video Solution

9. Write the first negative term of the

20191 181 173
sequence 20,19, 182, 17 ...

o Watch Video Solution



https://dl.doubtnut.com/l/_pVBsiCjpKRAT
https://dl.doubtnut.com/l/_mzaX0Suv80JZ

10. Find the values of k for which the equation

2 — 4z + k = 0 has distinct real roots.

o Watch Video Solution

11. Write the solution of the following pair of
equation:

X-3y=23x-y=14

o Watch Video Solution



https://dl.doubtnut.com/l/_D9cuJA0ZOtUD
https://dl.doubtnut.com/l/_Rt8DngE6ASmF

12. Write a quadratic polyminal for which sum
and product of the zero are 3 and - 10

respectively.

o Watch Video Solution

13. If 6 times the 6™ term of AP. is equal to 9

times the 91 then find its 15" term.

° Watch Video Solution



https://dl.doubtnut.com/l/_7wNJ08AWQopr
https://dl.doubtnut.com/l/_6eIs5kOPZJ7w

14. Check if 0.2 is a root of the equation

z2 —0.4=0.

o Watch Video Solution

15. Find the length of each side of a rhombus

whose diagonals are 24 cm and 10 m long.

o Watch Video Solution



https://dl.doubtnut.com/l/_WfOgYfBRVN5J
https://dl.doubtnut.com/l/_17X0U8dgRHGV

16. The chord of a circle of radius 10cm
subtends a right angle at its centre. The

length of the chord (in cm) is

o Watch Video Solution

17. Find the length of the altitude AL of an
isoceles triangle ABC, where AB = AC = 5 cm

and BC=8 cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_2dqsdZ8UyVRz
https://dl.doubtnut.com/l/_8nnJEf3zE6nj
https://dl.doubtnut.com/l/_5UZllN650qIL

18. State ASA criterion of congruence of

triangles.

o Watch Video Solution

19. Find the mid-point of the segment joining

the points (-2,4) and (6,10)

o Watch Video Solution



https://dl.doubtnut.com/l/_5UZllN650qIL
https://dl.doubtnut.com/l/_vcu8rtn3FxjC

20. Find the value of 'a' if HCF (a,18) =2 and LCM

(a,18) = 36.

° Watch Video Solution

21. Write one rational and one irrational

number lying between 0.25 and 0.32

o Watch Video Solution

Part A Section li


https://dl.doubtnut.com/l/_LsjILnnP5ZDV
https://dl.doubtnut.com/l/_yAW7OFvlJg4E
https://dl.doubtnut.com/l/_9f3uRmkRoGgi

1. Formula one Portugese Grand Prix technical
team at the Algarve International Circuit are
analysing last year data of drives's
performance to provide valuable inference to

commentators on how the drives can improve

this year.
r L 4 : TR ot La T W 7l Support "
If..:t...t"‘"* smuﬁrﬁ‘%.g e &MLE"LE‘“#
hmm 35 41(13%) | “Wllhewe.. Forceindia 36 36(11%)

Wlhawge., Mercedes 36 61(19%) | Wiilempe ToroRosso 36 23(7%)

Wllwe.. RedBullRodng 36 52 (16%) | Wiliew. Renoult 36 16(5%)

... }icLoren 36 3t@%) | WS~ Souber 6 13(4m

e Williams 36 33(0%) | Sl oo S 190en

The length of time taken by 80 drives to

complete a journey is given in the table below:

ffivers | 4 | 10 | 14 | 20 | 24 | 8

[Tires (nminutes) | 70-80 | 80-80 | 50-100 |100-110 110-120 | 120-130 J



https://dl.doubtnut.com/l/_9f3uRmkRoGgi

In which interval does the median of the

distribution lie?

A.80-90

B.90 - 100

C.100-110

D. 110 - 120

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_9f3uRmkRoGgi

(Tirfies (n m""ntmc.';a 70-80 | 80-90 | 90-100 [100-110 [ 110-120] 120-130

2 | Number'of drivers 4 10 14 20 24 8

In which interval does the mode of the

distribution lie?

A.80-90

B.90 - 100

C.100-110

D. 110 - 120

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_tANgsMnJFIRN

[Firfes (n mifines) | 70-80 | 80-80 | 90-100 [100-110[110-120[ 120-130

3 . Wd"m:ﬁ' 4 10 14 20 24 8

Mean time taken to complete the journey is

A. 104

B. 106

C. 110

D. 112

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_V82ZV0GT9p5J
https://dl.doubtnut.com/l/_hhfSzFKcGmVe

Y - s -
i[lmu,g (i rinutes) 70-80 | 80-90 | 50-100 {100-110(110-120| 120-130
L) 3 g g

4. Mm 4 10 | 14 | 20 24 8

adkc

A driver is chosen at random. The probability

that he took 90 minutes or less is

A.7/40
B.1/20
C.3/20

D.7/25

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hhfSzFKcGmVe
https://dl.doubtnut.com/l/_9Fo0i7b5BBZB

il " E. g -
sFirnes in minutes) 70-80 | 80-890 | 90-100 |100-110 | 110-120| 120-130
. d LT

5. | Number oF diivers 4 10 | 14 | 20 | 2 8

A driver is chosen at random. The probability

that he took 110 minutes or more is

4
395

62
" 395

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_9Fo0i7b5BBZB

Part B Section lii

1. If n is an odd positive integer, show that

(n* — 1) is divisible by 8.

o Watch Video Solution

2. Check whether 15" can end with digit zero

for any natural number n.

° Watch Video Solution



https://dl.doubtnut.com/l/_8t43WgXsqET4
https://dl.doubtnut.com/l/_txz4BGRPShpQ
https://dl.doubtnut.com/l/_AqvvRLXN6Ryp

3. Show that the roots of the quadratic
equation:
(b — ¢)z® + (c-a) x + (a-b) =0 are equal if c +

a = 2b.

o Watch Video Solution

4. If P(5,7), Q(x2) and R(-3,y) are collinear
points such that PR = 2PQ, calculate the values

of xand y.

o Watch Video Solution



https://dl.doubtnut.com/l/_AqvvRLXN6Ryp
https://dl.doubtnut.com/l/_K0KzM0unYWbR
https://dl.doubtnut.com/l/_zouleokVf7Ne

5. Prove that the diagonals of a rectangle with
verticles (0,0),(a,0),(a,b) and (0,b) bisect each

other and are equal.

o Watch Video Solution

6. AB is a line segment of length 8 cm. Locate a

1
point C on AB such that AC' = ECB.

o Watch Video Solution



https://dl.doubtnut.com/l/_zouleokVf7Ne
https://dl.doubtnut.com/l/_NTDxqL1Y4cMJ

7. The sum of circumferences of two circles is
132 cm. If the radius of one circles is 14 cm, find

the radius of the other circle.

o Watch Video Solution

8. A person goes to his office by using

different means of transport on different days.

It is know that the probabilities that he will

come by train, bus, scooter or by car are
1 3 2 4

respectively 0’ 10 10 and 10 The



https://dl.doubtnut.com/l/_hVOcKbssUngL
https://dl.doubtnut.com/l/_3Xj3fBBpOqgY

probabilities that he will be Ilate are

111 d 1'fh by train, b
156 an 3| e comes by train, bus,

scooter and car respectively, on one day when

he reaches office, he is late. What is the

probability he has come by train?

o Watch Video Solution

Part B Section Iv

1. Find the HCF and the LCM of 72 and 120,

using prime factorisation method.



https://dl.doubtnut.com/l/_3Xj3fBBpOqgY
https://dl.doubtnut.com/l/_PvPXBlMIOONk

o Watch Video Solution

X423

2 x4 b

Express the length of a side of the n'™ frame in

terms of x and n.

o Watch Video Solution



https://dl.doubtnut.com/l/_PvPXBlMIOONk
https://dl.doubtnut.com/l/_yyVnGht2LpbL

3.In Fig, find the value of z.

° Watch Video Solution



https://dl.doubtnut.com/l/_ShZwF8Tf0AEm

4. In the following figure, AD=5.6 cm, AE=
(z + 1)em, AB = 8.4cm and

EC = (z —1)em, find AC. Given that

DE| | BC.
A

o Watch Video Solution



https://dl.doubtnut.com/l/_XZ3azgg4fCgx

5. If the roots of the equation
z? + 2cx + ab = 0 are real unequal, prove
that the equation
z? —2(a+ bz +a®+b°+2 =0 has no

real roots.

o Watch Video Solution

6. Let A(5,6), B(-2,3) and C(6,-1) be the vertices
of AABC. Find the coordinates of the

centroid of the triangle.

| & I


https://dl.doubtnut.com/l/_RdvEj1MluuCh
https://dl.doubtnut.com/l/_CvGNgFJCUcAc

| ¥ Watch Video Solution |

2sin @ cos 6

1
7.1f tanf@ = — , evaluate .
13 cos2 6 — sin® 0

o Watch Video Solution

8 If secl+tanf = m, show that
(m* — 1)

(m? +1)

= sin 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_CvGNgFJCUcAc
https://dl.doubtnut.com/l/_IBLV9hML8Suc
https://dl.doubtnut.com/l/_ioqyk1aG8ryP

9. A sphere of diameter 6 cm is dropped in a
right circular cylindrical vessel partly filled with
water. The diameter of the cylindrical vessel is
12 cm. If the sphere is completely submerged
in water, by how much will the level of water

rise in the cylindrical vessel?

o Watch Video Solution

10. In the given figure, from a rectangular

region ABCD with AB = 20cm a right triangle


https://dl.doubtnut.com/l/_m7SzaueDcLUu
https://dl.doubtnut.com/l/_HY6IXNl9miTg

AED with AF = 9¢m and DE = 12¢m, is cut
off. On the other end, taking BC as diameter, a
semicircle is added on outside the region. The

area of the shaded region.

[Use m = 3.14]

A

o Watch Video Solution



https://dl.doubtnut.com/l/_HY6IXNl9miTg

11. Find the mean of the following frequency

distribution:

0-9 |10-19 |20 -29 30 -39 | 40 -49 50 -59

I\lﬁl‘h ‘al ,,.,|> R Y e e i
Ia[ﬁlumﬁ, *nﬁ%f 4 & 12 _6__ U 5

o Watch Video Solution

Part B Section V

1. From the top of a 7 m high building, the

angle of elevation of the top of a tower is 60°


https://dl.doubtnut.com/l/_M39M1lJtQ6xW
https://dl.doubtnut.com/l/_6FBKuSKFg2M7

and the angle of depression of the foot of the

tower is 30°. Find the height of the tower.

o Watch Video Solution

2. In figure ABC and DBC are two triangles on

the same base BC. If AD intersects BC at O,

ar(ABC)  AO

show that = —.
ar(DBC) DO

o Watch Video Solution



https://dl.doubtnut.com/l/_6FBKuSKFg2M7
https://dl.doubtnut.com/l/_QeITF4IJqwM2

3. Prove that the line segments joining the
mid-points of the sides of a triangle from four
triangles, each of which is similar to the

original triangle.

o Watch Video Solution

4. A piece of cloth costs Rs 35. If the piece were
4m longer and each metre costs Rs. one less,
the cost would remain unchanged. How long is

the piece?

| & I


https://dl.doubtnut.com/l/_gIRl6mngy2uJ
https://dl.doubtnut.com/l/_K4JnZ4g3COaX

| ¥ Watch Video Solution



https://dl.doubtnut.com/l/_K4JnZ4g3COaX

